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Mathematical Formulae

Compound interest

Mensuration

Trigonometry

Statistics

sinl sinB sinc

a' =b' +c' -2bccos A

Total amount =

Curved surface area of acone: nl
Surface area of a spherc : 4r2

Volumeofacone:ln}h
3

Volume of a ,oh"r" :1 -'J

Area of triansle l-BC = labsinC"2
Arc length =rdl, where d is inradians

Sector area:fr'd. wbere I is il radians
2

a b

"(
1+ '

100

c

rvr.-= IE
2f

2

Standard deviation = .l',. -el\'
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Answer all the questions.

I A range ofvalues of.r is represented on the number line below.

,)
1 4

Write down inequalities that represent this range ofvalues ofx.

Answer........... tll

2 The stem-and-leaf diagram shows the masses, in grams, of some oranges.

Key:

lell
20lo
2r I r

le 
l2

represents 192 grams

(a) Find the median of these masses.

Answer median: c tll
(b) Given that the interquartile range is 10, find the value ofm.

Answer m = t2l

22m5668
0346
47

3 Given that2'+L -l 2x = 24. find the value of,x.

Answer x : t2)

3
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4 The diagram shows part of the axvey: a* +bx+ 10. It cuts the

.r-axis at 5 and the coordinates of the maximum point is (1.5, 12.25).

Find the value ofa and ofD.

Answer a =

v (r.s,12.2s)

BP - 508

t31

5 x

D :........................

5 The first four terms in a sequence of numbers Tt Tz, Tt,7a, . . ., are given below.
L71379
3'1s 63

Find an expression, in terms of n, for Tn.

Answer Tn: l2l

6 The diagram shows an irregular polygon.
Find the sum of all interior angles of this polygon.

Answer t2)

4

0



507

7 The diagram shows the speed-time graph ofaremote controlled toy car for the frst 30 seconds

ofthe journey.

Speed (m/s)

u

0 5 0 Time

(a) Given that the deceleration ofthe car is 0.5 m/s2, find the greatest speed, n m/s.

Answer u :

(b) Calculate the average speed of the car for the first 30 seconds of the journey.

2

BP - 509

trl

(c) Sketch the distance-time graph below for the car'sjoumey.

Answer
Distance (m)

Answer m/s 12)

0 5 0
Time (s)

t3l

5
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t1l

tll

tll

g s = {natural number less than 10}
./ : {factors of 6}
I = {prime numbers}
C : {perfect squares}

Use one of the symbols below to complete each statement.

@eEce

(a) BnC:...........

o) {2,3} A

(c) 8 (AuB)'nC'

9 (a) Factori se 9i - 3x - l$? + 4y completely.

Answer

(b) Given ttrat (2x - 7)a + bl + 2)4 = 0, find the value of x - y.

l2l

Answer r-y: t3l

6



BP-511

509

10 The diagram shows a milk container which is made up of a frustum and a cylinder.
The height, ft cm, ofthe cylinder is the same as the height ofthe frustum. The radius of the
cylinder base is twice the radius of the top circular surface of the frustum, r cm. Given that
the curved surface areas ofthe frush.rm and cylinder are equal, find an expression for ft, in
terms of r.

Answer h t3l

l1 Solve
2 3

51-x2 x-l

Answer x : t3l

7
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I 2 In the diagram PpRS represents a plot of land. A multi-storey carpark is to be built within
PQRS with the following conditions:

o nearer to P,S than PO,
o nearer to P than S and
. nearer to Qthan P-

Shade the region where the carpark is to be built.

BP-512

t3l

R

o

s
P

E
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)( and AC =
1

B
( )

BP-513

t2l

13 Given ABC is a triangle where l4B =

(a) rta rZ.

Answer

O) Hence, or otherwise, show that ZBAC = 108'4"

Answer

(c) Hence, calculate the arca of LABC.

t2)

An-rwer .. . . units2 t3l

9
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14 Four numbers a, b, c,dare such that a + D + c + d:14 and a2 + b2 + c2 + d2 = 54.
When the fifth number, e, is added, the standard deviation of the five numbers became l.
Find the value of e.

Answer e :

BP- 514

i3l

15 The line graph below shows the profit made by Company X over the 4 years.

Profit in thousands ($)

16

2016 2017 2018 20t9
years

State one aspect of the graph that may be misleading and explain how this may lead to a
misinterpretation of the graph.

8

4

2

0

Answer

10

t2l
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16 The diagram shows a circle lBC, with centre O. AC is the diameter of the circle. M is the

midpoint of chord AB and TAP is lar,gent to the circle at point I '

Show, with reasots, that IBAP = IAOM.

Answer

17 Mrs Teo wishes to open an account with a bank by investing $5000 for 5 years.

Bank A offers 3% per annum, compounded half-yearly.
Bank B offers /Z per annum simple interest.
Given that both banks offer the same amount of interest at the end of 5 years, find the value
of r.

C

BP-515

t3l

T

11

Answer r : t3l
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In the diagram, ,4 , B, C and D are points on a ctcle, centre O.
Angle ABC: 83' ard argle ACD : 52".
Find angle ODC.

B
C

D

A

Answer IODC : t3l

19 (a) The volume of cube I is 1176;r cm3, where the length ofthe sides is an integer.
Find the smallest possible positive integer r.

Answer x =

(b) What is the maximum number of cube ,4 that a container of dimensions 5 m by lm by
3 m can hold?

l2l

t2

Answer t3l
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20 Singapore Chinese Dance Theatre put up a production in July.
The tickets pricing for senior citizens, students and adults were $28, $38 and $48 respectively

128\
This information can be represented by the makix q: I aS I- 

\+s/

(a) 2 senior citizens, 15 students and l0 adults order tickets through NC School.
21 students and.r adults order tickets tkough RV School.
Represent this information in a 2 x 3 matrix P.

Answer P :

Answer R:

NC

RV tll

tll

(b) Find the matrix & in terms of .r, such that R = PQ.

(c) Explain what each element in matrix R represents.

(d) The total amount of money collected from NC School is less than RV School.
Work out the least value of -x.

(e) All tickets ordered through school will be entitled to a 25% discount for senior citizens,
20% discount for students and,l5o/o discount for adults. Write down makix D such that
the elements in matrix multiplication of PDQ gives the total amount of money collected
fiom each school after discount.

tll

tz)

l3

Answer D :

t1l

(

(

Answer x :
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21 Anna and Betty have been given a task to complete 24 stamps in 15 days.
If Anna fall sick after 12 days, Betty will take additional 2 days to complete the task.
If Betty fall sick after 12 days, Ama will take additional ,r days to complete the task.

(a) Find the value ofn.

Answer n=......

(b) State an assumption you have made for part (a).

Answer

BP-518

14)

Ill

14
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22 The cost of a mobile phone plan, $C with respect to the arnount of additional talktime, I
minutes, by the user can be represented by the graph below.

c ($)

:

i:
rt

I

t-
i

3

2

I

0 80

(a) State the equation ofthis hne.

Answer

@) Explain what the vertical C-intercept value represents.

Answer

(c) Give a reason why the cost is not directly proportional to the additional talktime.

Answer

4020 t
(minutes)

t1l

tll

tll

+
:11i,

.1.

1

,
I

J
l

l

I

I

i

l5

I t:.
I

I
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23 The graph of y - *.*, is drawn on the grid.

\

I
T

'l

(a) The equation f - x : 1 can be solved by drawing a suitable straight line on the grid.
Find the equation ofthis straight line.

Answer

(b) By drawing the straight line from part (a), solve the equation I - x = 1.

l2l

Answerx:.......... or tzl

- End ofpaper -
16
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Malhematical Formulae

Compound interest

Mensuration

Tigonometry

Statistics

Total amount : 1+ r
100

Cnrved surface area of a cone: ml

Surface area of a sphere: 4m2

Volume of a con 
"= 

!*'h
3

Volume of a sohe ,, =! *'^3

Area of trianele,4 BC: !absnC"2
Arc length = 16l, where d is in radians

I
Sector area = I r'd. where d is in radians

2

abc
sinl sinB sin C

a' =b' +c' -2bccosA

M"*: rF

2

I . ,7

Standard deviarion = l', -( 4)'
YU \':/'/
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I

Answer all questions.

simptify 
q24 + (j{)t ,leaving your answer in positive index form. pl(a)

@) Solve the inequality

(c) (i)

(ii)

E*pr.rr r-rrz + #+:= u"a single fraction in its simplest

form.

Hence solve the eouation 2 + 3!x-1) + 1 : 3

' 1-2x zrz-sx+z x-2 x-2

t2l

t4)

tzl

2 (r) PQRS is a parallelogram in which the coordinates of P arrd Q are (p ,4) and

(7 , 11) respectively. The line 9y + 27 - 7x = 0 cuts the /-axis at R and is

parallel to the line PQ.

Find
(i) the value ofp,
(ii) the coordinates of S by vector method.

(b) In the diagram, WXYZ is a parallelogram and U is a point on ZY srch that
WZ : WU. The lines W ard UX ifiersecl at V.

W X

Prove that AWUY is congruent to AXYU .

YUZ

t3l
t3l

t3l

3
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3 (a) The radius ofa particular spherical cell is approximately 6.2x10-'r metre.

(r) 88 ofthese spherical cells are arranged to forrn a straight line such that
each cell touches one another without overlapping. Calculate the

length, in meke, of the straight line formed. Give your answer in

standard form.

(ii) Calculate the volume of a spherical cell, in cubic centimetre. Give
your answer in standard form correct to 2 decimal places.

@) The planet Mercury is approximately 77 billion metre from the Earth. Given

that radio waves travel at a speed of 3 x 108 rvs, frnd the time taken for radio

waves to travel from the Earth to Mercury, giving your answer to the nearest

minutes.

(c) The word 'Googol' is defined as 1x 1Otw . If a man has ten 'Googol' cents

and a Boeing 737 atcraft costs $72 million, how many such aircrafts can he

buy? Give your answer in standard form correct to 5 significant figures.

I1l

t1l

tzl

t3l

4
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4 kr the diagram, Oi = lzp ail,OE = gq.

It is given that 3DB = 2OB and OA = 3OC.

C
l2p

(a) Express, as simply as possible, in terms of p and q,

B

9q

D

E

o
A

(D ET,
(ii) 07.

t2l
t2)

l2l

661 Given that 
area o{ riangle 928 = 1. n"o aE in terms of p and q.
areaof tiangleODA 4

area of tiangle BDE/nt Flnd the value ot\-' area of quadraila@ral EDOC

12)

5
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5 Answer the whole of this question on a sheet of graph paper.

A radioactive substance decays such that its mass, r grams, after d days is given

bythe equation m = a3Q)- d 
.

The table below shows record ofthe mass, m grams of the substance, corrected to

I decimal place, after d days.

d (days) 0 1 2 3 4 5 6

z (grams) 9J 14.3 4.8 0.5 0.2 0.1

(a) Find the value ofp.

(b) Using a horizontal scale of 2 cm to represent 1 day and a ve ical scale of 2

cm to represent 5 grams, draw the graph of m = $O)- d for 0 < d < 6 .

(c) Use your graph to estimate the value of dwhen the mass of substance is

reduced to 65oZ of its original mass.

(d) By ilrawing a tangent, find the gradient of the curve at the point when

d: 2.5.

State briefly what this gradient represents.

(e) Using your graph, find the range of d for 86(3)-d + lZd < 60.

Lrl

t3l

t1l

t3l

l2l

6

p
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6 PpR represents a triangular plot of land on horizontal gound.
PQ: 50 krn, QR : 107 km and PR : 125 km.

R is due east ofP-

P

107 lan

125 km

.R

(a) Calculate

(D the bearing of p from P,

(ii) the bearing ofP from p,

(iii) the obtuse angle PQR,

(iv) the area of the triangular plot of land PQR.

@) A vertical pole of height 9 kn is erected at Q. Calculate the greatest angle of
elevation of the top of the pole from a point ,S along PR.

N

o

t3l

t2l

t2l

t2l

t3l

1
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7 ln the diagram, the circle Cr with centre Xhas a radius (3r * 1) cm, where r is a constant.

Two identical semicircles, & and Sz with centre at y and Z respectively, have a radius

(13 - 6r) cm.

Another semicircle, St with centre O has a diameter AB.

Cr touches,!r and Sz at P and Q respectively while Sr and Sz touches one another at O.

,9: touches Cr,5r and Sz at R,,4 and B respectively.

AYOZB is a straight line.

Y o Z B

(a) Write down an expression, in its simplest form and in terms of r, for
(i) xz,
(ii) xo.
Hence, form an equation in terms ofr and show that it reduces to

12612 - 471,r +299 = 0.

Solve the equatio n 12612 - 41]rr + 299 - 0.

Hence, find the area ofthe shaded region.

R

A

t1l
t21

o)

(c)

(d)

t3l
t2l
t3l

8
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C

l7 cm

(i) Show that angle DOA = L.23 rrdiarc

Calculate

(ii) the length of minor arc AD,

(iii) the area ofthe shaded region.

(b) Diagram I shows an open container which is made up ofa cylinder and a cone
The cylinder has radius r cm and height 30 cm.
The cone has base radius r cm and slant height / cm.
The container is firlly filled with water.

Diagram II shows a spherical object in which half of it is immersed into the
container and some water is displaced. The radius of the sphere is the same as

the radius of the cylinder. Assume the thickness ofthe container and the
spherical object are negligible.

rcm

30 cm 30 cm

/cm /cm

Diagram I Diagram II
Given that the volume of the water displaced is 11522r cm3 and the volume of
the water left in the container is 36007r cm3, find
(i) the value ofr and of /,
(iD the total intemal area ofthe container and the sphere that is in contact

with water, leaving your answer in terms of n.

BA

12)

t1l

t3l

t4l

l2l

9

8 (a) The diagrarn shows a circle with centre O and radius of 12 cm. AB is the

diameter of the circle and lC is a tangent to the ckcle at A with AC : 17 cm.

The circle intersects the lrl;e BC at D.
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9 (a) The following box-and-whisker diagrams show the distribution of the mass of 300

students from each school, SK Secondary School and HG Secondary School

respectively.

SK Secondarv School

HG Secondary School

Mass (kg)

o 10 20 30 40 50 50 70 80 90 100

(r) What is the median mass for each school?

(ii) Compare the mass of the students from SK Secondary School and HG
Secondary School in two ways.

(iii) Mary commented that there are more students in HG Secondary School

than SK Secondary School who weigh more than or equal to 70 kg.

Do you agree with Mary? Support with a reason.

(b) The cumulative frequency curve shows the height distribution of80 plants.

Bt]

70

60

50

40

30

20

10

50 60 70 80 90 100 110 120 130 140

Height (fr cm)

tll

tLl

t1l

!)

E
bb
q)

a
oz

U

fi l: ii:f
ll-:-lr-f

.r-y].1

i,1) 'l-i-,-ii-

:l.
-/-r- r.l-l
,i -i i -,-l

Ir::'llil.ilii -::-::l

lir,:,,] !.!_t_!_

#,i.f
.--L-_,_.--t- I

r'f
'--f:'1-f

10

I
I
I

I

I



BP- 531

(i) Use the graph to find
(a) the value of m, if 32.5o/o of the plants have heights more than rz

cm,

(b) the probability that two plants chosen will each has a height of
more than I 18 cm.

(iD (a) The height distribution of the 80 plants was also recorded in the

following fiequency table. Find the value of a and of6.

Height (& cm) Number of plants

60<h<70 2

70<h<80 a

80<fts90 9

90<r<100 27

100<1,<110 23

110 < h < t20 b

120 < h <130 4

(b) Hence find the mean and the standard deviation of the height of
the 80 plants.

t2)

l2l

t1l

t21

l1
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10 Mr and Mrs Tan bought a 3-bedroom unit at a newly launched condominium project at

Serangoon. The unit has a floor area of 1152 square foot (sqft). The selling price for
the unit is at $1494 per sqft. The developer gives a 5olo early bird discount to all

buyers.

(a) Calculate the price that they paid for the unit. t1l

Mr and Mrs Tan are both Singapore citizens and they also owned a HDB 5-room
flat ald they do not have any intention of selling their flat. As such, they will
have to pay Additional Buyer's Stamp Duty (ABSD) to the government on top of
the Buyer's Stamp Duty (BSD). Table 1 shows the BSD rate and Table 2 shows

the ABSD rate.

Table l. BSD Table 2. ABSD
Based on purchase price Rate

SCr buying first residential
property

NA

SCI buying second

residential property
t2%

SCl buying third and

subsequent residential
property

15%

SCr denotes Singapore Citizens

O) Calculate the total Buyer's Stamp Duty paid by Mr and Mrs Tan.

Mr and Mrs Tan made a 20%o down-payment based on the amount paid for the

uoit obtained in (a). For the remaining amount, which exclude the total Buyer's

Stamp Duty, they had decided to sign up either for a 20-years Home Loan plan

from CBCO Bank or a 3O-years Home Loan plan from BSOP Bank.

(c) Determine which bank they should sign up if they can only afford a

monthly instalment of not more than $6000.

Support you answer with appropriate workings.

Simole Interest Rate for CBCO Simple Interest Rate fotBSQP

Based on
purchase price

Rate

First $180 000 r%
Next $ 180 000 10/

Next $640 000 3%

Remaining amount 4%

Bank
Loan period: 20 years

1 year: 2od Year:

2.18%p.a 2.l8ok p.a

Thereafter: 2.68% p.a.

Bank
Loan penod: 30 years

Itt year: 2od Year

1.95o/o p.a. 1 .95ok p.a.

Therealter: 2.1 5o/o p.a.

t4l

tsl

*** End of Paper ***

t2



Paper I Arswers cJl

Answer all the que$hns

1 A range ofvalues ofx is represented on the nrmber line below.

BP - 533

trl

+t
Write down hequalities that represent this range ofvalues of*.

Arxwer

lel1
20lo
2r I r

lel2

22m5668
0346
47
represents 192 grams

(a) Find the median of these masses

(b) Given that the interquartiie range is 10, frnd the value ofm

Answer median: . .199 . Bl g ttl

Answer m: J l2l

Key

2O5-gr:19
Qr = 195

:.m=s
M1

A1

3 Given that 2t+1 +2x = 24. frnd the value of*.

2x(2+r):24
,i-o

'rx -,t3
:,x=3

A]tswer r:... t2l

2 The stem-andJeaf diagram shows the masses, in grams, of some oranges.

M1

A1

3
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4 The diagram shows part ofthe cwvey:arz+bx+ 10. Itcr:ts the:.

axis ar 5 and the ooordirates of the maximum point is (1.5, I 2.25).

Find the value of a aad of l .

y=a(x-L.5)2+"',!.2.25

y = a(xz - 3x + 2.25) + 12.25

:. a:(2-25) + 12.25 -- 10 M1

a: -1 Al

:.b-3 81

0

1.5, t2.25)

BP- 534

5 )(

*1
,i/t: er a: .

.)

1

3

7

15

Find an expressior; in terms ofn, for I,

Note: If students only find numerator or denominator, award B1

Answer T": . - l2l

6 The diagram shows a:r irregular polygon.
Find the sum of all interior angles of this polygon.

8x180
: M4A'

M1

A1

1440
t2l

4

t3l

5 The first foru terms in a sequence of numbers Tt, Tz, Ts, f4, . . ., are given below.
13 19

t35,63:

6n-s
*nz -7

BZ

Ansu,er
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7 The diagram shows the speed-tirne graph ofa remote controlledtoy car fcn the first 30 seconds
of thg joumey.

Speed (mrs)

0 Time

2

S)

Anrn,er

7.5 81

BP - 535

t1lAwwer u -

(b) Calculate the average speed ofthe car for the first 30 sec.,:'rd. ofthe joumey

1

2

2

1

1
Total distance - (2+7.s)(s) + (7.s)(10) rz (7,5)(15)

3.75+75+56.25
55 M1

A1
1

=b
5

(c) Sketch the distance-trme graph below for the car'sjourney

Answer
Dstance (m)

For each shape and value
l5,5

G1

98.75

G1

n/s [2]

1. Missing markings on

venicalaxis: -1 mark

2. lf the sketch is not
smooth (a.k.a. pimple

curve), -1 rna rk

23.75

0 5

ACCE exactn ro er fractio

G1

Time (s)

t3l

(a) Given that the deceleration ofthe car is 0.5 m/s2, find the greatest speed a m/s.

15S I
Average speed = J0-- = 5E

5
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8 e = {nahral mnnber less t}mn l0}: {1,2,3,4,5,6,7,8,9}
.{ : {factors of6} : (1,2,3,6)
, : {prime nurnbers) : {2, 3, 5, 7)
C : {perfect squares} = {1, 4,9)

Use one of the symbols below to complete each statement.

Qegc4

(a) B nC= o
B1

Co) (2,3) A

€(c) 8 (,4 u B)' n C' 81

B1

BP - 536

tll

trl

t1l

9 (a) Factorise 9tz 3x l6f + 4, completely.

9x2-16y2-3x+4y

: (3x - 4y)(3x + 4y) - (3x - 4y) M1

:(3x-ay)(3x+ay-D A1

Answer

(b) Given that (2x - 7)a + Al + 2)L = 0, find the value of.r y.

Srnce (2x - 1)n > 0 and (y + 2)n > O, 81 reason

2x-l= 0 and y+2 = 0

M1

:.x-y=2.5 A1

Qx-ay)(3x+ay-L) t2)

Y=-2ard
1

2

2.5
Answer x y-...... ........ .. t31

6
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10 The diagram shows a milk contaiaer which is made up of a frusturn and a e/inder.
The heiglrt A cnL of the cfinder is the same as t}re height of the ftush.rn. The radius of the
cy{inder base is twice the radius of the top circular surface of the frusturrq r cm. Given tlnt
the curved sinface areas ofth€ frustr:rn and cylinder hrd equal; find an expression for &, in
terms of r.

7.73r

BP- 537

I3l

Area.-.11.o',. / 1\2

-=t-l

Area6;r.o"" \Z)
1

Surface area offrustum = 3rrr hz *rz

3nt h2 +12 = 2r(2r)h

{ffi=+n
9(h2 +f) = Tanz

9r2 = 7h2

a-2
LZ - 

''
't --T

3,/1or Tr

M1

M1

A1
3

h =:r or 1.13r

Arcwer h=

h

tl -23-solve---=5
l-rat ,-L

L3

-+-= 

5
(1 -x)(1 +x) 1-x

2+3(1 +x\
__...:=J(1 x)(1+x)

2 + 3(1 +x) = s(1-1)(1 + x)

Sxz +3x = 0

z(5r*3)=0
3r=0 or ,=-6

M1

M1

A1
3

s t3lAnswer x:
0or

7
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f 2 In ttre diagram PQRS repre ents a plot of land A mr:lti-storey carpark is to be built within
PpRS with the following conditiors:

r nearer to PS thanP0,
r nearer to P than S and
. nearer to QfianP.

Shade the region where the carpark is to be built.

G1 for z bisector

G1 for both I bisectors

BP - 538

t3l

R

O

s
P

I
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lzl

M1

A1

13 GwenABCis atiangte rtrere Zd : (jr) -u ie = (-rt)

(a) r'ina ai.
BC - BA+ AC

= -(j,). (;)
/-6\:l.s/

Answer

M1 length of AB and AC

M1 formula

A1

M1

A1

' Utherwise" method

5

t

(;') p)

(b) Hence, or otherwise, show th^t IBAC : 108.4".

Anster

't{ence" method

lqel=^lfr
lail=06
tfrt:G
717 :26 + 6s - (.1T6)(GS)costBAC tttr

coszBAC : -0.3762277
zBAC = L08.4" A1

(c) Hence, calculate the area of LABC

A'* : )(,lR)(rG) sin 108.4

1'l
IBAC :90 * tan-l 3l tan- ,

= 108.4"

.i-LlC

8

l-r'.
IA

B

: 19.5 unitsz

lf students calculate the

length in part (b), award

them the M1too.

Answer
19.5

urits2

t3l

9
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14 Four ru:rnbers a,b,c,darcstchtlata+ b+ c+ d:14^Ildaz+ F+ c2+ dz:54.
When the fifth rnrmber, e, is adde{ fte standard deviation of the five nurnbers bcame 1

Find the value of e.

54*ez t74 + e\lrl

BP- 540

t3l

2

5 -]. M1

M1

A1

5(54 + e2) -(L4 )-e)2 _,_-------E-_,
270 tsez - 196 -z\e - e2 = 25

+e2-28ef49=0

(2e -7)2 -o
e = 3.5

3.1
A,swer e =

15 The line graph below shows the profit made by Company X over the 4 years

Frofit in trousands ($)

15

2016 2017 2018 2019
years

State one aspect ofthe gaph that may be mrsleading and explarn how ttus may lead to a
misrnterpretation of the graph.

B1
2076 lo 2OI7

looks the same as the increase from 2018 to 2019, but the actual is lesser. B1

OR The data for 2019 is invalid. There can be a decrease instead of increase.

8

4

2

0

B1Bi

l0

12)

Answer
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16 The diagram shows a circle ABC, with centre 0.,4C is the diameter of the circle.,1.4 is the
midpoint of chord AB atd TAP is tangent to the circle at point,4.

C

Show, with reasons,lha,t ZBAP: 1AOll.

Answer

T

BP - 541

t3l

tOAP = 90' (Tangent perpendicular to radius)

zAM0 = 90" (Perpendicular bisector of chord)

zAOM = 180 - 90 - IOAM (zsum ofA)

= e0 - (eo - L{API
= LBAP

:,t1

Mi

Any missing reasons:

overall -1 mark.

A1

17 N{rs Teo wishes to open an account with a bank by investing $5000 for 5 years.
Bank A offers 3olo per annum, compounded half-yearly.
Bank B offers 10,6 per annum simple interest.
Given that both banks offer the same amount of interest at the end of 5 years, find the value of
r.

Interest = S000

5000xrxs
= 802.7O4L

100

250r = 8O2.704I

r - 3.21

- 5000 M1

M1

lf student write 3-27o/o on

answer blank, -1 mark.
31+-

200

10

( )

11

A1

Answer r :
3,2t

t3l

I
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540

B

A

In the diagranl l, B, C and D are points on a circle, cente O.

/,rryle ABC : 83" and xry7e ACD : 52' .

Find angle ODC.

M1

M1

A1

Ansver IODC -

8P.54?

l3l

C

Any missing reasons:

overall-1 mark.

zAO D : 52 x 2 = 104' (z at centre : 22. at circumference)

aODA : (180 - 104) + 2 -- 38" {base of isosceles A)

zODC : 180 - 83 - 38 (L in opposite segment) -'t
: 5e" 1-

)

(o

19 (a) The volurne of cube I is I 176.x cm3. where the length of the sides is an integer
Find t}re smallest possible positive integer.r.

L776-23 x3x72 M1

:.x=32x7 =63 A1

53
Answ er r :

(b) \\'tnt is the maximum number of cube I that a container of dimensiom 5 m by 1m by
3 m can hold?

Length of cube: Zx3x7 :42 Ml

500 --19
42 21

M1

t2l

100

42

300

42

I
2!
1

7
7

)

No. ofcubes: lLXz x7 = 154 A1

t2

Ans,wer
754 t31
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20 Singapore Chinese Dance Theate pd up a production in Iuly.
The tickeb pricing for senior citizerts, students and adiilts were $28, $38 and $48 respectively.

/28\
This rnformation can be represented bv the mat-ix Q : { ag l- 

\+e/

(a) 2 senior citizens, 15 studenb and 10 adr:lts order tickets ttnough NC School-
2 i students and:r adr:lts or&r tickets through RV School.
Represent this information in a 2 x 3 matrix P.

215 10

B1

NC
Ansrer P :

(b) Fi:rd the matrix R, in terms of r, such that R: PQ

O2l x Rv [1]

B1fi..rcrR:

(c) Explain what each element in matrix R represents.

It represents the total amount collected/ to be paid by NC and RV respectively

(O The totai amount ofmoney collected from NC School is less than RV School.
Work out the least value of r.

( LLO6
798 * 48x)

A1

An-vwer x -

(e) Al1 tickets ordered ttror:gh school will be enttled to a 25% drscount for senior citizens,
20% discorurt for sfudents and 15% discormt for adults. Write down matix D such that
the elernents il matix multiplication of PDQ gives the total amormt of money colleeted
from each school after discount.

798+48x>1106
s*> 6a

M1

B1

tll

t2l

B1/o-75

(:
0

0.8
0

13

Answer D :
t1l

ttl

0\

, 
g,J



21 Arma antl Bettylave been given a task to complete 24 stamps in 15 da1,s.

If Arna fall sick after I 2 days, Betty will take additional 2 days to complete the task.
If Betty fall sick after 12 days, Anna will take additional z days to complete the task.

(a) Find the value ofr.

542

A+B: 15 days,24 stamps
I day, 1 .6 stamps
3 days, 4.8 stamps left Mlno. of stamps left

5 days, 4.8 stamps
I day, 0.96 stamp M1 rate ol B

A: (3+z) da1s, 4.8 stamps

lday ,*

4.8_+0.96:1.6
:J+n

##= o*

3 + n:7.5

n:3.5

M1

A1

3.5
Ansyter n :

BP - 544

t4l

B

(b) State an assumption you have made tbr part (a).

Both Anna and Bettv worked at a constant rate.At751v?r .......... . ... ..........1......
B1

tll

14
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22 'I-he cosl of a nobile phone plan, $C, with respect to the amounl of additional talktime, r
minutes, by the user can be represented bv the graph below.

c ($)

(.)

I

.1020 8(.) 1 t
(minules)

(a) State tlrc equation ofthis hne.
DT

(b) Explain what re vertical C--intercept value represents.

.t,,,n, ...t.t.1?.?!9:9ll:.y,.9.9?:i:.:9:! yiL!9y1.?.1y.?9Lilig.llr.!glsirs:.

Answer ......9..L.99L9:11.... 1r1

BI

tll

tll

(c) Give a reason why the cost is not directly proportional to the additional talktime.

- The praoh does not
Answer ......... :.. :....._......-.

C

sta rt from origin. B1

OR -+ const@nt 81
students cannot write ! + Ict
and not defining what k is.

...............t.

15

I

I

I

I I

t-
I

I, I
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23 The graph of y : *.* , is drawn on the grid.

(a) The equation :r2 x : 1 oan be solved bv drau,ing a suitable straight liae on the grid.
Find the equation of this straight line.

x(x-7):1 M1

1

x-l
7

r- I

Y = x +2 A1

Ans*^er Y=x+2

(b) By drau'ing the straight line from part (a), solve the equation .f - x = l.

t2l

81 for both ans

. -0.65Ansv er x = .......... or 1.65

I
il
I

I

I

Accept -{.6 + 0.05 and 1.6+0.05

t21

- End of paper '

t6

II

I

I

I

l
II I l

I

I

i

i
I

I

I

i
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1

(a) soouq, ff * Fts)-',l"""i"s your answerinpositive index

form

(b) Solve the inequalr,ri, - i

(c) (D Yry*uf;+ffi** *asinglefractionirits

simplest form.

(D l{ence solve the equahon ,'= + =Tl-'),=+-L= 
1

' l-zx 2az-Sx+2 x-2 x-2

(,+i)>jr,-s>
12)

141

{21

1 (a) (Zry)' . l*-'y-'
ls-;=\ 4

=t,'f -(L\39rya w-Ly-z/
*x?rz x-2v-4
\StYl ^ 76

=*, iArl

)

2

[,Able to remwe both bncketq [M I ]

Ir0l

o) I 31 1\ 1

i" -EV+3)> 7k -e't

*"-,1"-i=ir-J [.tble to exlara all terms correctly] [N'I I ]
43

'2 -16
t<51

-77 [Al]

(c)(D 2 3k-1\ 1

-+-:-+-7-2x 2xz-Sx+2 x-2
-2 3r-z_-r-

2x-r t (x- 2)(2x-r)
-2(r-2)+3@-t)+zx-r

+ j tett to ractorise 2r2 - sa +2]lMll

[Able to combhe irto common denomindor][M1](x-2){2x-L)

=-ffi [Able to expand corealy]Evr rl

lAll{x-2)(2x-t)
(c)(iD 2 3k-7) 1 3

- 

' 
-:J-1-Zr Zxz-5x.r2 x 2 x -2

, r!i= r.=-1^.x+z tlull(x-2)(2x-t) x-2
3x

?r-1
6x-3=3x
3x=3
t =7 [A1]

7
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2 (a) PpRS is a paralleiogram in which tlre cocrdinates of P ud Q arc (p , 4)

ard (7,11) respectively- The lhe 9y + 27 - 7x = 0 cuts the /-axis at.R

ard is parallel to tlie line Pp.
Find

the value ofp,
the coordirntes

t3l

(aXi)

Gradient ofPQ:; (narallel lines) tMll

lMll

7

9

9v:7x-27
7v:-x-3"9

Gradient of the line:

7 -p:g
p: -2 [A1]

tl-+
- 7-p

7-p 9

IeI
(aXii)

By vector method, R : 0I lcorEept of equal vectorsllM!

-(i). (;) = -(L) + (_0,)rvrr

()=(_{-).(i)
:(_?)

s: ( -e, -10) [A1]

accept SH : PQ

r)

(0,-3)

dF =(-h,dd:(1,),

D3= (;).a3= (_")

J
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(b)

548

In the diagram, WXIZ is a garallelogram ard U is a point on ZI such that

WZ: rnl. The lines W andUX intersect at Z

W' X

Wove that AWW is congruent to /XYU

YUZ

t3l
(b) WZ:WU (glven)

: XY (opp sides of llgan)
UY (conrnon length)

wOy = 180 - wOZ (adj angles on a st. lir:,.1

xf u = rgo - w2u 6at. angtes;

Since WZ =WU
=+ WZu =w1z
ttence wDY = XPU
AWW is congruent to l)fIU (SAS) [Al ,]

Prove 2 pairs ofequal sides

lMlI

hove included angle

tMll

4
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3 (a)

(b)

(c)

549

The radius of a particr:lar spherical ce1l is approximately 6.2 x 10-'r

metre.
(i) 88 ofthese spherical celJs are aranged to form a straight line such

that each cell touches orc another witlout werlapping. Calculate

the length. in mehe, of the sbaight line formed. Give your answer

in standard fo,nn.

(ii) Calculate the volume of a spherical cell, in cubic centimete. Give

your answer in standard form conect to 2 decimal places.

The planet Mercury is approxirnately 77 billion mete from the Earttr-

Given that radio waves tavel at a speed of 3 x 1 0t m/s, find the time taken

for radio waves to tavel from the Earth to Mercury, giving your arswer

to the nearest mirutes.

The word'Googof is defined as 1xl0'00. if a man has ten 'Googol' cents

and a Boeing 737 aircraft coots $72 milliorq how many such aircrafu can

he buf Give your arswer in standard form correcl ro < significant

figrues.

Dameter:2x 6.2 x l0- "
Length:88x2x 6.2x l0 Ir

:1.09x10-tm [Bl]

t1l

t1l

L2l

t3l
(a)(i)

fl

Volgrne: Jr x (6.2x l0-';r Note: r : 6.2x10'rm : 6.2x10-ecm

= 9.98xlo-2'cm3 (2@) tBtl
(b)

I : 21{ ly11
3v 10t '

:256 ? s
3

(c) 10 x 1x 10100

ten 'Googol' cents : $
100

$ 10" [Change to $][M l]
10ee

No ofaircrafu =- IMll
72x100 '

: 
1 .3889 x 10'r [Al ]

5

(a)(ii)

= 4 min (nearest min) [Al I
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'l In the diagranr, Oi = 12p and 0E = 9q.

It is given thar 3 DB - 208 and OA = 30C.

tzp

{a) Express, as simply as possible, in terms of p and g.

(r) Et,
(tD 07,

q61 Given that
area of biangleODE I

, fird A, in temrs of p and q.
areaof triangleODl 4

B

9q

D

E

o
A C

t21

I2l

area of rriangle BDEr..\ -t urcl thc value ol 

-

area of quadrailabral EIXX

lz)

l2l

6

(aXi)

BC:80+OC
: -sq +!oi
: -9s + ap Bt)

(a)(ii)

DA:DO+OA
:iEd * 12p [Mr]
: -3q + 12p lAll

(b)

arcaof timgleODA 4

05xEDxh 1: = : [Shared same perpendicular height](Mll
0 5xADxh 4

EDI

:lzp +iai
--12p+l3s-r2p) tMll

= 3p + !q terJ

OE : OA+ AE

area of triangle ODE 1

AD4

trt
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c5 I

area of tr: angle ODE _ OD - |

area of /nangle DEB DB 2

(c)

area of triangle AEC AC2
Mr.

area of hrangle OEC OC 1

Triangle ODE:Triangle DEB: Triangle AEC : Triargle OEC

= l:2:2'. I

area of triargle BDE

area ol quadrailate ral EDOC
2

2

- 1 [A1]

1
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5 Answer lhe whole of thls question on a sheet of graph paper.

A radioactive substance decays such that its mass , m grams, after d days iq given

bythe equation - = q\3)- o 
.

The table below shows record ofthe mass, m grams of tlre substance, cofiected to

L decimal place, after d days.

d (days) 0 I 2 3 4 5 o

m (grams) 43 14.3 4.8 0.5 0.2 0.1

(a) Fiad the value ofp.

O) Usrng a horizontal scale of 2 cm to represent I day and a vertical scale of 2

cm to represent 5 grams, draw the graph of -= A!3'; d ior0<d < 6.

(c) Use your graph to estimate the value of d when the muss of substance is
reduced to 65% ofits original mass.

(d; By drawing a tangent, find the gradient of the curve at the point when

d =2.5.

State briefly what this gradient represents.

(e) Using yoru graph, find the range of d for B6(3)-d + Lzd < 60.

t1J

t3l

tt I

t3l

L2l

8

p
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9uosdon 5

51 - Correct scale

P1- Plot all points correctlY

G1 - Smooth curve

o) .9, db)

0

) b
m

l

nge
I

4

)

9

lrl= t (s)'/

Draw tangent at d = 2.5 [GU

IAU

4+0.2 B1+1

?2 (

dr o

G

s)
(

l

J )

-o
1-1'5
.1-]

I Act

Jfl:

t ! -t.+6

1,. ir.t

.-3.06 ! "

spnts the

(tuepr

'it repre
pct to dtrreslr'with

rz.{,
of masr

whenrd

\
I <,gtl
d< 30

..-,-l)) +t2

il'+
86(

4a
)\

\ 'l ){?)
rav. n l= ?o- a

54 o
o

f"--l\
I

!

30{n

0 3( d ( q1

o

\*

I I

\
\\

,zo*ll
lrl

(:l'5,o1

I

Accept 0.29 to 0.31

Accept 4.45 to 5.45

1

)

553

*1

r

t-
I

Ir
I

I

E

Yft

I B1

frofi

.d
I

I

\

z\,
r8

I\ \
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6 PCR represents a triangular plot of land on horizontal ground
PO : 50 ktu, QR: 107 km and PR : 125 k a.
R is due east of P. 

T

(a)

(b)

N

P

a

107 km

r25 km

R

Calaulate

(l) the bearing of ? from P,

(li) the bearing of P from Q,

(ili) the obtuse angle PQR,

(l!) the area of the triangular plot of land POR.

A vertical pole ofheighr 9 km is erected at C. Calculate the greatest
angle of elevation of the top of the pole from a point .9 along PR.

s

13.l

12l

l2l
l2l

t3.l
(aXl) 12s2 +so? -1o72r:os ()/Jl(

' (2x12s)(so)

eP R - s7.77a
Bearing of Q from P
:90 - 57.774 tM1.l
:032.3" (1dp) [A1]

TMlI

(aXti) Bearing ofP from Q
:360 - (1aO - 32.2A2) [\,tl
:2r2.3"(tdp) [Al]

(axtll) linPoR _ sin s7.718 lMll12S LO?
pQR : eo,9a7" (rejected) or PQR :99.o73"

obtuse PQR : 99.O" [Al]
or
cosPOR =Sffi rr'arl
obtuse PoR = 99.o" IArl

10

lt2l



(aXD Area ofthe triangular plot of landPpl
j{rzsxso).insz.zre Nll
:2640 kmz [A1]

BP - 557

(b) In PQS,

sin 57.718 : *4 [ut]
d:42.271

In triangle PQT,

lMlI
lAll

555

12ns =:+2-271

e = 72.O"

11



BP - 558

556

7 In the diagram, the circle Cr with cente-thas a radlus (3r * 1) crn, whereris a con-stant.

Two identical sernicircles, Sr and Sz with centre at 1 and Z respectively, have a radius
(13 - 6r) cm.

Another semicircle, S: with cenhe O has a diameter,4B.

Cr touches Sr and,9z atP and p respectively while ,Sr and Sz touches one aaother at O.

3r touches Cr,,Sr aad Sz at R, I and B respechvely.

AYOZB is a sltugtt hne.

R

A Y o Z B

(a)

(b)

(c)

(d)

Write down an expressiorq in its simplest form and in terms of r, for
(i) xz,
(E XO.

Hence, form an equation in terms ofr and show that it reduces to
L26rz -41lr +299 =o.
Solve the equation 12612 - 471r + 299 = 0.

I-Ience, find the area of the shaded region.

t1l
L2l

t3l
t2)
t3l

(aXi) xZ=xQ+QZ
:3r+ I + 13_6r
: la - 3r [Bl]

[11]

(aXll) XO:2(r3 -6r)-(3r* 1) [Ml]
--25 15r [Al]

(b) XZz:X1z*OZz
(14 - 3r)z = (25 - 15r)z + (13 - 6r)2 [M1]
!96 -84r t9r2 = 625-750r]-22512+169- 156?"+3612[MU
25Zrz - 822r +598:0 [Al]
t26rz - 41Lr +299 = 0 (shown)

(c)
T

4111J (-41 1)r -4(126)(2es) Irlll
_n1

6

2(r26)

"2or 1-
2L lAll

(d) lfr :2 :
6 ,thenXO<0

Hence r : 1a
zr

t?
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)rces -u(rfi)>, -" (, (,;,i) + r)'-n1r: - o(rf)f rur-
Area of S3l[Ml - correct rmshaded area]
:72.1 cm2 [Al]

Area of the shaded region

BP - 559

13



BP - 560

558
8 (a) The diagram sholvs a circle with centre O and radius of 12 cm. ,4-B is the

diameter oflhe circle and,4C is a tangent 10 the circle at I with:lC : 17 cm.

The circle inlersecls the line BC at D.

I7 cm

(i) Show ilrat angle DO,4 = 1.23 radiars.

Calculate

(ii) the leogth of min or ac AD,

(iii) the area ofthe shaded region.

(b) Diagram I shows an open container u,hich is made up ofa cvlinder and a cone.

The cylinder has radirx r cm and height 30 cm.

The cone has base radius r cm ald slant height I crn.

The container is fully filled with wder.

Diagranr II shows a spherical object in which half of il is immersed into the
container and some rvater is displaced. The radius ofthe sphere is the same as

the radius ofthe cylitder. Assume the thickness ofthe cofiainer and the
spherical object are negligible.

C

r cln

-10 cm 30 cm

/cm /cm

Diagran I Dagram II

Gival that the vohmre of the water displaced is 11 522 crn3 and the volume of
the waler left in the container is 36002 cm3. find
(0 the value ofrand ofi,
(iD the total internal area ofthe conlainer and the sphere that is in contact

t'ith water, leaving your ansu,er in terms ol n.

tsA

12l

t1l

t3l

t1l

l-l

t2r ,
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(aXD

-.t

In triangle CAB,

tanc8.A =fi $tl
cB A -- 0.67630 rad

DAA - 2 x O.6L63O (argle at cante = 2x angle at circumference)
: t.2326
: 1.23 rad (shown) [A1l

Ir2l

(aXii) length of minoi arc l-D: 12 11 2326): 14.8 cm [B1]
(a)(iiD Area of the shaded region (Join OD)

) Gz1 1z +1 - ) {rz)' {t.zt z q - : GDz'. in (n - t.23 z 6) IM t -

Sector area][M 1-area of hiangle]
-204 88.747 6i922
= 47.3 cm3 lAt I

(bxi) Vol of water displaced: 11522

i"i"trl' =tts2tt [Mt)
13 = !728
r=12cm [All

Total volume
:7152n + 36001t
:4752n

n(rz)z(3}) +!nQz)2n: 47szr lM.t)
48h= 432
h=9cm

By Pythagoras' Theorem,
12 =92 + LZz

l:75 cn [Al]

(bxti) Intemal area
:n(rzXls) + 21t(72)(30) + zt(122) [M1]

1 I88n cm2 [AI]

15
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9 (a) The following box-and-whisker dragrams show the distribution ofthe mass of 300

students ftom each school, SK Secondary School and HG Secondary School

respectively.

SK Secondary School

HG Secondary School

Mass (kg)

o 10 20 30 4a 50 60 70 80 90 100

(i) 'r\4nt is the median mass for each school?

(iD Compare the mass ofthe students from SK Secondary School and HG
Secondary School in two ways.

(iii) Mary cornrnented that there are more students in HG Secondary School

than SK Secondary School who weigh more tlan m equal to 70 kg.

Do you agree wrth Marf Support with a reason.

trl

t2l

t1l
(i) For SK Sec, median = 65 kg

For HG Sec, median : 58 kg Both correct [B1]

t11

(i') Generally, the students for SK Sec Sch are heavier compared to the

snrdents in HG Sec Sch because of the higher median. [Bl ]

For SK IQR: 32 kg; For HC, IQR: 18 kg

The mass of the shrdents in HG Sec Sch is more corsistent tlnn that of
SK Sec Sch because of smaller interquartile range. [Bl]

(iiD Dsagree as tlere are more tlwr 25o/o ofthe students from SK Sec Sch

weigh more than ?0 kg while tlrcre are less than 25% of the students

&on HG Sec Sch weigh more than 70 kg. [B 1]

Accept: There are more shrdents in SK Sec Sch weigh more than 70 kg

because it has a higher upper quartile ttran HG Sec Sch.

l6

I

I

I
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80

70

60

50

40

30

20

10

50 60 70 80 90 100 118 120 130 140

Height (e cm)

Use the graph to find
(a) the value of n,if32.5%o of t}re plants have heights more than rz

cm,

(b) the probabiJity tlnt two plants chosen will each has a height of
more tlnn I 18 cm.

(ll) (a) Ihe height distibution of the 80 plants was also recorded rn the

following fiequency table. Find the value of aandof b.

H etght (l cm) Number of plants

60 <h3'70 2

70<r<80 a

80<lr<90 9

90<t<100 2'7

100<, < 110 23

170 < h <120 b

120 < h <130 I

(b) Hence find tle mean and t}re standard deraation of the height of
the 80 plants.

o

o
tt

E
4)

B

fd

a
oz

0

(')

t2l

t2l

ii:I
j.f

..t -'. I ..: - t

lii:ii:Ii L .l_

.:-:-:.:- t l -:-:.:- t.:i-:.:-t: -:-:..:-:-ur:- L;-,- r:- l- r -,- r r- t r -'- r J-
-,-!- i -|-f -,-,- i -|- I i -i i -,-l i -r- r -,-,r
, --., -1.. -., -t ,--..-t,.-.I

E!IJ
H E

E

5!
E

I

Effi Hffiffiffiffiffi

17

(b) The cumulative frequency cune shows the height drstribution of80 plants.

tll

t2l

n'r-|)
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(bi) (a) No ofplants less than or equal tom cm :67.5% of80 :54 plants

lBll
m= 10s [A1]

t7t

(bi) (b) ax-1 n,trtao 79'

-S lert
(bir) (a) a:3, b : 12 Both correct [Bl]
(bii) (b) Mear: 99.75 cm [B1]

Standard deviation : 12.6 cm [Bl]
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10 tr{r and Mn Tan bought a 3-bedroom unit at a newly launched condominium project at

Serangoon. The unit has a floor area of 1152 square foot (sqft), 'Ihe selling price for
the unit is at $1494 per sqft. The developer gives a 5-ezo early bird discount 1o all

buyers,

(a) Calculate the price thal they paid for the unit. tll

Mr and tr{rs Tan are bot}r Singapore citizens arrd they also orvned a HDB 5-room

fld and they do not have any intention of selling thet flat. As such, they will
have to pay Additional Bu;,er's Stamp Duty (ABSD) to the govemmenl on top of
the Buyer's Stanp Duty (BSD). Table I shorvs the BSD rate and Table 2 shows

the ABSD rale.

Tahle l. BSD Table 2. ABSD

Based on purtfiaso price Rnte

SCr buying first residentia)

property

NA

SCt buying second

residential property

120h

SCr buying third and

subsequent residential

property

l59 b

SCI denotes Singapore Citizens

(b) Calculate lhe total Buyer's Stamp Dury paid by li{r and Mrs Tan.

I{r and Mrs Tan made a 20-o6 dorva-pal.rnent based on the amor:nl paid for the

unit obtained in (a). For the rernaining amornrl, which exclude &e tolal Bu1'er's

Stanrp Dut.v-, they had decided to sign up either for a 20-years Ilome Loan plan

from CBCO Bank or a 30-yean Home loan plan from BSOP Bank.

(c) Determine which bank they should sign up if they can only afford a

monthly instahnent ofnot more than $6000.

Support you answer with appropriate workings.

Sinrple Intercst Rate for CBCO

Based on
purchase price

Rate

Fint $i80 000 1%

Ne:'1 $180 000

Nefi $6tl{) 000 30o

Remaining amormt 49'o

Bank
[,oan period: 20 -r,eam

1{ \'ear: 2nd Year:

Tlrereafi er: 2.68o,i p.a.

1e 1,ear: 2nd Year

1.9596 p.a. 1.95olo p.a-

Thereaft er : 2.1 5olo p. a-

t1I

[-5]

19

2.l8oa p.a. 2.18P./o p.a.

Simple hterest Rate for BSOP
Bank
Loan period: 30 years
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(a) Amourt paid
:1 152 x 1494 x 0.95
: $1 635 033.60 [Bll

u0l

(b) BSD paid
:0.01 x 180 000 + 0.02 x 180 000 + 0.03 x 640 000 + 0.04 x
635 033.60 [M1 - First 1 mil][Ml - remaining amount]
:50 001.3,14

ABSD paid
:0.12 x 1 635 033.60 [M1]
- 196 204.032

Totai stamp duty
:50 001.344 + 196204.032
:$246 205.38 [Al]

(c) Loan amormt
: 0.8 x 1 635 033.60 [Ml J: sr 308 026.88

CBCO Bank
Interest
:2.l8Yox2 x 1308026.88 + 2.680/o x l8 x 1308026.88 [M1]:688 022.1389

Monttily instalment
: (688 022.1389 + I 308 026.88)+(20 x 12)

[Ml for either of the monttrly instalments]
: $8316.87 > $6000

BSOP Bank
lnterest
:1.95o/ox2 x 1308026.88 +2.15%ox28x 1308026.83 [Mll
:838 445.2301

Montlily rnstalment
: (838 445.2301+ 1 308 026.88)=(30 x 12)

= $5962.42 < $6000

Mr and Mrs Tan should sign up with BSOP Bank as the
monthly instalment is less than $6000. [Al]

20


